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Time: 3Hourg] [Max. Marks: 60
I nstructions to the candidates:

1) Question No. 1 and 6 are compulsory.

2) Solve any three questions from Q.No. 2 to Q.No. 5.

3) Figuresto theright indicate full marks.

Q1) Fill inthe Blanks by selecting asuitable choice (Any 6): [6]
ad Enterprisesin are given more tax concessions.
)  Service sector i) © Automobile
i) SEZ iv) 1T

b) The effort to unite the nations of the world comes from

)  Privatization i) Liberaization
i)  Globalization IV) Modernization
C) ___ isapoalitical factor affecting the economic environment.
1)  Type of Economy i) Infrastructure
i)  Therole of Bureaucracy Iv) Banking Facility
d . isadtuationinwhichalarge number of businessfirmssell the

homogeneous products.

i)  Monopolistic Competition  ii) Duopoly

iif) Perfect competition Iv) Monopoly

€ _ isthemagor problem of small and cottage industry.
1)  Moreskill labor i) Moresdling
i)  Raw material Iv) Morefinance
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f)  Multinational companies have their headquartersin
)  America i)  Every country
i) Their own country Iv) Other country

g) Cement production in India started in

) 1935 i) 1921
i) 1904 iv) 1947
h)  industry laid the foundation of Indiasindustrial economy.
1)  TheAutomobile i)  Process
i)  Thetextile Iv) Cement

Q2) What isan economic environment? Explain the role of economic environment
In economic development. [14]

Q3) State causes of industrial imbalance in India and write measures to remove
Industrial imbalance. [14]

Q4) What isPrivatization? Explaini argumentsfor and against of privatization.[14]

Q5) Writedefinition of Information Technology industry. Explain problemsof I T
industry in India. [14]

Q6) Write short notes (Any Two): [12]
ad  Technological factors affecting economic environment.
b) Present Situation of public sectors.
c) Problems of special economic zone.

d)  Problems of tourism industriesin India.
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9% ; 3] [ wsgwT 7701 : 60
goat:- 1) 9. 1 3701 6 A<k 3TRA.
2) U . 27 5 Uhl Rvg A1 T9 |gan.

3) IHIhSA 37k YUT IUT gIifadTd.

¥.1) o= vaia fFaga e smm s, (SRiorerd @2) [6]
< ) JERRO AefieT JERTEAT 31fereR o Taerdt fdea ST,
) Eened i) AT s
i) iv) e @
) IS TYET U MU0 T ..o A gral.
)  ETEeR i) e
ji)  ITfereRieRRo iv) syl
F)  eeeeeeeenns 1 TTofeh THTeRuIEeR URUMH SFRUTRT TSThid Teeh TR,
) SR YR i) orenm glaen
ii)  TeReErER. fHeR iv) = gfaen
T) Ny TEUTS 3191t Feoredt <t SaTERl Higan HEE SEHT HEAT Uh 9N et
ferht
i) wrehares s i) faRrkaER
iil) 9ot e V) weherl
3) e B oY o HER ST T THE .
) oI I HEEIR i) < Tk
jii) e Ut iv) aifereR ot qRaet



jii)  Toa:e dvmA V) gE=n oI
q) HRAM .oueeennnn... ned favies Scaed 9% o
) 1935 i) 1921
i) 1904 Iv) 1947
£ 3 NSRRI FERTH WRATAA TN iTeh STeieaeE=n I ardel.
) cHemETEA i) wferam
i) e iv) R

¥.2) sfeier uaiarun o s ? anfien foremmardie snfofer aaterumht yftem we w0, [14]

Y. 3) HRAn(e e STEHdicr HR0 QA S e g FHRUaErs! SuTRie
ferar. [14]

Y. 4) WriehiuT TgUTS i ? WSROI S 7T fomieht e givearg we wa. [ 14]
¥.5) mifgedt domm SEnTe e foTgl. WRATdie Hifgedt asiei SETrean S T @[ 14]
¥.6) o fergr. (ot 2m) [12]
HA) el THTERUMER TRUTH SFUTR G fauees aeeh
q)  TESIH QAT ST HeAterdt

*) foaow onfoies Sameen wen
T)  HRATI Uded STl aue
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